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a7 Y — MEEYT A1 236, 965, 523
a7 J— KL A1 236,965,523 |WrEfEE T A1 (t=1cm) 110 =
WrEEHETALla (t=1cm) o4 o
WrEEETALD (t=1cm) 5 ot
WrimfEE TALlc (t=1cm) 19 o
WriEfEE TA2 (t=1cm) 14 o
WrimfEE TA3 (t=1 cm) a3 7
WrimfEE TA4 (t=1 cm) 661 o
WrimfEE TA4a (t=1cm) 9 o
WriEfEE TA5 (t=1 cm) 1,036 o
WriEfEE TAS5 (t=2cm) 61 o
WrifEE TA6 (t=1 cm) 15 7
WEEETAT7a (t=1cm) 5 ot
WriEfEE LB 1 (t=2cm) 9 o
WriEfEE LB 1 (t=3cm) 8 o
WriEfEE LB 1 (t=4 cm) 64 7
WriEfEE LB 1 (t=5cm) 14 o
WriEfEE LB 1 (t=6 cm) 19 o
WriEfEE LB 1 (t=8 cm) 4 o
WrEEEIBla (t=1cm) 4 ot
WrEEETIBla (t=2cm) 4 o
WrEEEIBl1a (t=3cm) 5 ot
WriEfEE TB1a (t=4cm) 1 o
WrEEHETIBla (t=5cm) 1 ot
WrEEHEIBl1a (t=6cm) 9 ot
WEEETIB1b (t=4cm) 5 o
WEEETIBl1c (t=2cm) 3 ot
WrFEE TB1c (t=7cm) 16 o
WriEfEE LB 2 (t=3 cm) 14 o
WriEfEE B3 (t=3 cm) 1 7
WriEfEE B3 (t=4 cm) 97 o
WriEfEE B3 (t=6 cm) 5 o
WriEfEE B4 (t=2cm) 6 o
WriEfEE TB4 (t=3cm) 9 o
WriEfEE B4 (t=4 cm) 1 7
WriEfEE B4 (t=5cm) 16 o
WriEfEE B4 (t=6 cm) 75 o
WriEfEE B4 (t=7 cm) 17 o
WriEfEE B4 (t=8 cm) 11 7
WriEfEE TB4 (t=10cm) 301 o
WriEEE TB4 (t=12cm) 40 o
WrEfEETB4a (t=10cm) 9 ot
WriEfEE TB5 (t=3 cm) 999 o
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BrEfEETB5 (t=4 cm) 106 it
WrEfEETB5 (t=6 cm) 690 it
WriEEE LB 5 (t=7 cm) 61 o
WriEfEE TB5 (t=8 cm) 12 7
WriEEE TB6 (t=7 cm) 14 o
WriEfEE TB6 (t=8 cm) 1 o
WEEETIB7a (t=4cm) 4 ot
WEEETIB7a (t=5cm) 1 ot
WrEEHEIBS8a (t=5cm) 9 o
&A@ T A1 17,732, 558
Pek2EiE T VIS 7,165,219 |[HEOKEMETA 1 30 m
HEAREMETA 2 19 m
PAREMETAS 14 m
HAREMETA 4 19 m
HAREMETAS 28 m
HEoKEME LA 6 9 m
PAREMETB 1 17 m
PAREME LB 2 18 m
HEAKEMEHRE T A 49 m
AR T EV 10, 567,339 | MALE 4,925 kg
B 4,925 kg
A BRI LA 4,474 kg
R A % T VN 512, 787
SEABG A B T A1 512, 787 | L AR LAt 11 m
Z Dt 41 m
A3 PRt E% T A |1 232, 435
HH T EVEE! 232,435 |#AAKERERE LA 35 m
WiEm AL EV 223,972, 744
AR U T EVI 1,825,410 |HEAKES T 38 [E0
o 38 [0
W& wiE L EVI 23,407,995 |OOENEATL 577 m
577 m
KUl TA 833 m
KE) B 93 m
Kgly T.C 84 m
HKFBRRE LA 187 ot
HKFEE LA 533 m
ERHEME LA 1 1 T
ERHERME LA 2 1 .
R HEME LB 1 1 .
ERHERMELB 2 1 P
ERHEMELB 3 1 .
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ERHERMELB 4 1 =50

1< B Ex R T x| 1 172,837,524 | B 12, 065 i

12, 065
KR L A1 25,901,815 |27 U — NREHE T 3, 591 nt
3,591

MET A1 663, 196, 243

WiE FHEE L T EVIN 422,705,235 |27 U —hMIOVTA1 (t=2cm) 1 fred
a7 JV—hKI"YITA1 (t=3cm) 1 n
a7 V—hKI"YITA1 (t=4cm) 8 n
a7 U—hKISHVTA1 (t=5cm) 64 nt
a7 U—hKISHVTA1 (t=6cm) 14 nt
av 7 U—hKMISDVTA1 (t=7cm) 19 nt
a7 JV—hKI"YITA1 (t=9cm) 4 n
a7 Y—HMIDVITAla (t=2cm) 4 n
a7 Y—hMIDVITAla (t=3cm) 4 n
a7 Y—HMIDVITAla (t=4cm) 5 n
a7 Y—HMIDVITAla (t=5cm) 1 n
a7 Y—HMIHDVITAla (t=6cm) 1 n
a7 Y—HMIDVITAla (t=7cm) 9 n
a7 V—hMI2YITA1b (t=5cm) 5 n
a7 YV—MIDVITAlc (t=3cm) 3 n
a7 Y—MIDVITAlc (t=8cm) 16 n
a7 V—hKI"YVITA2 (t=2cm) 1 n
a7 U—hKISVTA2 (t=4cm) 13 nt
a7 JV—hKIH"YITA3 (t=4cm) 1 n
a7 U—hKIHSHVTA3 (t=5cm) 27 nt
a7 JV—hKIH"YITA3 (t=7cm) 5 n
a7 V—hKI"YVITA4 (t=2cm) 6 n
a7 V—hKI"YVITA4 (t=3cm) 2 n
a7 V—hKIH"YVITA4 (t=4cm) 8 n
a7 V—hKI"YITA4 (t=5cm) 3 n
a7 U—hKIoHVTA4 (t=6cm) 16 nt
a7 U—hKIoDVTA4 (t=7cm) 75 nt
a7 U—hKIoHVTA4 (t=8cm) 117 nt
av 7 U—hKMIoDVTA4 (t=9cm) 111 nt
a7 U—RMIHDYVITA4 (t=11cm) 301 nt
a7 U—RMIHDYVITA4 (t=13cm) 40 nt
a7 Y—hMIDVITA4a (t=11cm) 2 n
a7 U—hKIHSDVTAS5 (t=4cm) 355 nt
a7 JY—hKIHSHVTA5 (t=5cm) 42 nt
a7 U—hKIHDHVTAS5 (t=7cm) 629 nt
a7 U—hKIHSHVTA5 (t=8cm) 123 nt
a7 U—KMIHSDVTAS5 (t=9cm) 12 nt
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a7 U—RMIHDYVILAG6 (t=8cm) 14 nt
a7 V=K MIDYVILTAG6 (t=9cm) 1 n
a7 —hIHDVWTA7a (t=5cm) 4 n
a7 —hIHDVWTA7a (t=6cm) 1 n
a7 —hIHDVWTA8a (t=5cm) 2 n
Z OFHF T EV 3,774,526 |FREBHILMMLE TA 2 D
AR HL ) T K| 1 210,967,332 |H#HHM L XN XM 148 ]}
148 5]
AR A ) T 12 5]
12 5]
R LTS EV 25,749,150 |2 EALE 1, 060 NG
1, 060 A+ H
AR 2 B 541 N
541 A+ H
B T &t EVIT 1, 142, 612, 290
Ik T A |1 124, 871, 374
I fis T X |1 124,871,374 | T# 1 =
BEh e TH 1 v
R T (YR ) 1 =
S R 1 =
Z DA O L2 1 =
EETHEE F K |1 1, 267, 483, 664
HIE (% K |1 113, 936, 000
e By K |1 113, 936, 000
B Bt K |1 389, 284, 000
M THEE § K |1 503, 220, 000
T K |1 1, 770, 703, 664
—RE P K |1 193, 296, 336
T {iAs K |1 1, 964, 000, 000




